CG\LANL Enginesring Biandardo\End. Marual [LEMI\Z. Appravad\ST—C4010-28E2.4vg, 11/04/02 B 1428 C83838

8 | | 6
BILL OF MATERIALS
TEM DESCRIPTION QTY| MFR. CATALOG No.
wean PALE, DF ' CLASE I 2
SPRING WASHER, 5/8" SIZE B | JOSLYN #1177
WIRE, 3/8" (7#8) H.S. STATIC, 3D% CCND. AS | coOPPERWELD
/8" (748} RESD
POLE BAND, 4-WAY, FGR 7 1/2* Ta 12" DIA. 2 | HUGHES #1111
LAG SCREW, 1/2" X 4" 2 | JoSLYN #iB7B4
CONNECTING LINK 2 | HUGHES #3170
GUY ROLLER, WHEEL TYPE, WITH 3/4™ X 2" BOLT 2 | HUGHES #28082
GUY GRIP DEADEND, “B” COAT, 3/8" SIZE, GALV. 2 | PREFORMED #CDE3115

CRIMP CONNECTQR

HYTAP

©

@

®

0

©

@

@

@ CRIMP CONNECTOR 2 | HYTAP

@ SQUARE WASHER, 5/8" SIZE B JOSLYN #41D74

@ DOUBLE ARMING HOLT, 5/8" X 227 B | JOSLYN #4BB72

@4y | EYE NuT, 5/8" SIZE 6 | JOSLYN 41002

@ SUSPENSKIN INSULATQR, PCLYMER 12 | JOSLYN #L1510

(8) | sTRAIN cLAMP, DEADEND B ;%ﬁ%{fg““sm

@ CLAMP, HOT LINE, FOR ACSR 3 CHANCE #5153D—AGP
@ HOT LINE CLAMF ADAPTER, 1/0—-4/C AGSR 3 | FCI-BURNDY #YCB-2BU2&
@) | INTER. TYPE METAL OXIDE SURGE ARRESTER 3 ggg?%{o;'zlﬁagqgﬁ MIGEL
@ INTER. ARRESTER, MCUNTING BRACKET 3 | HUBBELL/CHIC BRASS #7224
NO. 1/D BARE COFPER WIRE, 7 STRAND Réas'D

@ GROUND WIRE STAPLE, 2" Rég'n JOSLYN #16655

&6 | sROUND ROD, 3/4" X 8 1 | JBSLYN $J5338

@ GROUND RQD GLAMP, HEX HEAD, 3/4” 1 JOSLYN #JB493

@ 4" X 67 X 1B’ FIR TIMBER 5

&) 3

& 1

&0 1

@ °X" BRACE FQR 12°-0" C. TO C. 1 HUGHES §#1042-12—
@ 3/4" X 18" GALVANIZED BOLT B | JOSLYN #JB318

@ 3/4" GALVANIZED SPRING WASHER B | JOSLYN #43541

@ 4" X 4" X 1/4" GALVANIZED SRQUARE WASHER, 7/8" HODLE B JDSLYN #1082

GENERAL NQTES:

DRAWING DEVELOPED FOR ML-3/ML-4
PROJECTS, FOR ML—1/ML-2,
ADDITIGNAL REQUIREMENTS AND QA
REVIEWS ARE REQUIRED. (REMOVE
THIS NQTE WHEN INSERTEDR INTQ A
DRAWING PACKAGE).

1. THIS BILL QF MATERIALS APPLIES TC DRAWING ST—G401D-28, SHT. 1.

2. EQUIPMENT ITEM NUMBERS (@) REFER TQ EQUIPMENT NUMBERS IN

LANL SUPPORT SERVICES CONTRACTOR'S MASTER HILL OF MATERIALS,
ONLY THOSE NUMBERS USED QN SHT. 1 OF THIS DRAWING ARE SHOWN.

NATES FOR DESICNER:
E%%wm'.}g INCLUDE CN CANSTRUCTIAN

L L
L 9
? 1. CONPLY WITH GURRENT EDMION GF §
< LANL DRAFTING NANUAL FOR CALL— 4
OUTS PROTOCOL_AND LOCATION OF
1 SCHEDULES/MATERIAL. 9
@ 2. ASSIGN AN APPROPRIATE DRAWING 4
L 9
L L

CANC BhabrRe” TR EREeST

FOR DETALS.

9090006609

W e [ BESCRPTION DWN [VER|cHKD| sUB | AP

FACILITY & WASTE OPERATIONS
SYSTEMS ENGINEERING & MAINTENANCE

LANL ENGINEERING MANUAL ORAWN | 4 pacen
SITE ELECTRICAL DISTRIBUTION STDS.
BESEN |, prvant
STANDARD Z—Eﬁ-ll.-E OiANMc:IQTEa"&?; INSTALLATION CHEDKED | |, | snpNAN
HLDG. X TA—X | "F |e/30/m2
SUENITIED AFPRIVED FGR RELEASE
DISCIPLINE POC! DAVID PAOWELL STANOAROS MANAGER! TOBIN QRUCH
SHEET
- 2
° LOS Alamos PU Bax 1063 2 ar 2
NATIONAL LARORATRRY Los Almos, New Maxko B75640
CLASSFICATAN U [REVEMER  NIHAEL LaDaCH [oarea/38/82
FROJECT D DRAWING N REV
CHAPTER 7 ST-G4010—-28| 0




